3. x2+12x+43 =0
~ L 3N Iy-4ou3) - —la~ -3
() X

Q*QDI_ (D+,U\_

e

€

4.

x> —2x—-15=0

(x-5)(xx3¥ 0

=S k=73

1) BEGIN with ax + bx + ¢ =0 and MULTIPLY

2) REWRITE x2+ bx =—c-a
3) x%+bx+ = —cra+

A - -3

4) COMPLETE THE SQUARE by taking half of b; square it and ADD [T TO BOTH SIDES of the

equation in the blanks.
5) FACTOR the perfect square trinomial.

6) Take the SQUARE ROOT of both sides. Don’t forget to include a £ to create 2 solutions.
7) SOLVE both equations. SIMPLIFY all irrational anid complex solutions.
8) DIVIDE by “a” and REDUCE all final solutlon

) y S‘-I =3

/—\ 2y

5. 3x2+10x—8=0

=10+ \100- H0X4)

G

X [KL: —’5) ();'J-S

_-10% F

6.

4x?* —8x+3=0
RESCECO AN
%

LY _-
<g\

AL 04\55

7. 4x% —16x+71=0

\6 > {9s0-4wan

8.

ﬁ;j@ﬁ “YGTY)

2x2 +5x—4=0




Compleke €. 19 & 3.0
qwdo W

Foundations of Math 2
Unit 7 - Solving More Quadratic Equations

QUIZ REVIEW PROBLEMS
=\
X= 3/"‘) /a

Solve by factoring.

x2— 64 =0 2.) x;—Zx—f(zo
= - M =0
Q( Q) (lledro
=LY (¢ 2t =o
(e (YD
4) 227 +3§+1a_0 5) (—3:0
v} 3xd=o Y(Y-4)= 0
(\Lmb@‘o
UJVX: o\ l-_\/gk

ame:

\o & )

Date:

Pd:

3) x2+ 3x —40 =0

(a9

6.) x? +5x — 14 =0

(e )x=d)=0
&

¥O-A ) ¥t

(v=d,~Ya

l,x =81 8.} ’4,c—3)2—"5 9.)

Solve by square roots.

10) (k- 5)° = 45

Y
0

\S
5

‘L - \0x+25-45-0

0 Uy-3)Yy-3)"25=0 _
e (‘\?.i%i‘t‘ifﬁfé" T
(a3 8)=0 I D s o6

(3 )<0 0| e, 50
X(\(—ED(\&) 0

Solve by completing the square.

11) x2-2x-3=0

12) x*+2x—14=0

(X’Q(\(‘H) =0 - Q=@
D( = 3 X': - \ atn
—gralls | -t
o

le's

3\\5
_-2aG0 °
>

Y ==\ +\s ,-\‘WJ




Solve using the quadratic formula.

Yy PR |
13. 2x2 + 5x + 3 =0 14.2x,;+x—6:0
Xy Sxre=9 X" +X-13= 0
(a0 (d(x2)-0
>~ d 3 3
A\ '\’?D: 0 -3 =0¢
(v ( »é?) (\k@,gxg/l
m \( - ) 9\
15. Z}ax(—'-Zx\—'JS=O 16. x> — 2x —5 = 0 b dgc
X del5-0 - (AN
(-DWr3)= 0 20) o
3 ( 33 14 _,a\\_\ a&b
(2x-5)x)*O = ;
;{-\_: b — \'\_“W
ol X = i\*m \ \—ﬁ \
\ - 7 3
b? — 4ac b2 — dac
18. x?—12x+ 36 = 0
- (12 N EDZIO)EE
- 20)
3t 0 _
— —\—} x=




